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M.Com. DEGREE EXAMINATION, APRIL 2018.
 I Year I Semester
Core Major -I  -  ADVANCED CORPORATE ACCOUNTING AND ACCOUNTING STANDARDS 
Time : 3 Hours











Max. Marks : 75
SECTION A – (10 × 2 = 20 marks)
Answer  any TEN questions
1. What is Accounting Standards?
2. Write any 2 accounting standards issued by ICAI.
3. What do you mean by voyage accounts?
4. What is amalgamation?
5. From the following particulars determine the maximum remuneration available to a full time director of a company 
            The profit  & loss A/c of the company showed a net profit of `40,00,000 after taking into account the 
            following elements:
            Depreciation(including special depreciation `40,000)  1,00,000
            Provision for income tax  2,00,000
            Donation to political parties  50,000
            Ex-gratia payment to a worker  10,000
            Capital profit on sale of asset  15,000
6. The provision for tax at the end of 31.3.01 stood at `3,00,000.  During the year 2001-2002, the tax liabilities upto 31.3.01 were settled for `2,74,000.  Provision required in respect of 2001-2002 is `82,000 .  how will you show provision for tax in profit & loss account?
7. R ltd. Agrees to purchase the business of  K ltd. On the following terms:
i) For each of the 10,000 shares of `10 each in K ltd. 2 shares in R ltd.  Of `10 each will be issued at an agreed value of `12 per share.  In addition, `4  per cash also will be paid.
ii) 8% debentures worth `80,000 will be issued to settle the `60,000 9% debentures in K Ltd.
iii) `10,000 will be paid towards expenses of winding up.
Calculate purchase consideration.
8. Following is the balance sheet of S Ltd. As on 31.3.2004
	Liabilities
	`
	Assets
	`

	8% preference shares of 100 each
	3,75,000
	Fixed assets
	16,25,000

	Equity shares of 10 each
	7,50,000
	Investments
	3,00,000

	General reserve
	4,50,000
	Current assets
	2,50,000

	7% debentures
	3,50,000
	
	

	Current liabilities
	2,50,000
	
	

	
	21,75,000
	
	21,75,000


Calculate the purchase consideration on the  basis of the following:
i) R Ltd. Agreed to discharge 7% debentures at a premium of 10% by issuing 9% debentures of R Ltd.
ii) Fixed assets are to be valued at 10% above book value, the investments at par, current assets at 10% discount and current liabilities at book value.
9. On 31.12.03, X Ltd. Acquired 80% equity shares of Y ltd.  The P&L A/C and General reserve balances as per Balance sheet of Y Ltd, Prepared on 31.12.03 amounting to `6,80,000 and ` 1,44,000 respectively.  On the date of acquisition of shares, the assets of Y Ltd. Were revalued and gain of `1,20,000 was found out.  Calculate the  Capital profit.
10.  X Ltd. Purchased 60% shares of Y Ltd. On 1.1.02.  when the balance on their P&L a/c and general reserve were `1,50,000 and Rs.1,60,000 respectively.  On 31.12.02 the Balance sheet of Y Ltd. Showed P&L balance of `4,00,000 and general reserve `3,00,000.  Calculate Revenue profit.
11. A company has a capital of `5,00,000 in shares of `100 each out of which the holding company acquired 80% of the shares of `6,00,000.  The profits of the company on the date of acquisition of shares by the holding company were `3,00,000.  Calculate capital reserve.
12. On 30.6.03. 2/3rd of the shares of S Ltd. (with total capital of `12,00,000) was acquired by H Ltd.  The Balance sheet of S Ltd. Showed a debit balance of `6,00,000 on 1.1.03 and a credit balance of `3,60,000 on 3.12.03,  the investment made in S ltd. By H ltd. Is `9,00,000.  Calculate the value of goodwill.
SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
13. Differentiate between amalgamation and absorption and explain their significance. 
14. Explain the scope of accounting standards.
15. S Ltd. Has capital of `2,00,000 in shares of `100 each out of which H Ltd. Purchased 75% of the   
  shares at `2,40,000.  The profits of S Ltd. At the time of purchase of shares by H ltd. Were `1,10,000.  
  S Ltd. Decided to make a bonus issue out of pre acquisition profit of one share for every five shares held.   
  Calculate the cost of control of acquiring shares of S Ltd.
i) Before issue of bonus shares  
ii) ii) after issue of bonus shares.
16. Calculate  Minority interest from the following information:
	Liabilities
	`
	Assets
	`

	7,00,000 shares of 2 eacg
	14,00,000
	Sundry assets
	10,00,000

	General reserve as on 1.1.97
	6,00,000
	Plant & machinery
	7,00,000

	Creditors
	3,00,000
	Other assets
	1,50,000

	P&L 31.12.97
	2,00,000
	Investment(80% of shares)
	6,50,000

	
	25,00,000
	
	25,00,000


17. R Ltd. And S Ltd. Have agreed to amalgamate.  After negotiations the assets of the two companies have  
  been agreed upon as shown below: 
	Liabilities
	R 
	S
	Assets
	R
	S

	Shares of 10 each
	10,00,000
	5,00,000
	Land 
	5,00,000
	3,00,000

	Reserve fund
	-
	50,000
	Plant
	2,00,000
	2,50,000

	P&L
	50,000
	50,000
	Goodwill
	-
	50,000

	Creditors
	80,000
	50,000
	Furniture
	1,10,000
	-

	
	
	
	Stock
	1,50,000
	20,000

	
	
	
	Debtors
	1,20,000
	20,000

	
	
	
	Bank
	50,000
	10,000

	
	11,30,000
	6,50,000
	
	11,30,000
	6,50,000


Prepare balance sheet of the combined by  Assuming the entire purchase price is paid off in the form of 
         equity   shares of `100 each in R Ltd.
18.  S ltd. Is absorbed by T Ltd. The consideration being:
i) Taking over of trade liabilities `40,000.

ii) Payment of cost of absorption `15,000

iii) Repayment of debentures of `2,00,000 at par.

iv) Discharge of ‘A’ debentures of `3,00,000 in the vendor company at a premium of 10% by the issue of 8% debentures.

v) Payment of 20 per share in cash and exchange of4 fully paid `10 shares in T Ltd. At a market price of `15 per share for every `50 share which were 40,000 in number.  You are required to find out purchase consideration.

19.   The accounts of T Ltd. Showed an amount of `3,00,000 to the credit of P&L account on 31.3.1998 out of which the directors decided to place `60,000 to general reserve and `42,000 to debenture redemption fund.  At the annual general meeting held on 15.6.98, it was decided to place `20,000 to a development reserve and to pay a bonus of 2.5% of the profit to the directors as additional remuneration.  The payment of half yearly dividends on `5,00,000 65 cumulative preference shares on September 30, 1997 and march 31,1998 was confirmed and a dividend @10% was declared on the equity share capital of the face value of `6,00,000.  The balance of P&l is to be carried forward to the next year.  Prepare p&l appropriations account showing the above arrangements.
SECTION C – (2 × 15 = 30 marks)
Answer any TWO questions
20.  Explain the duties and responsibilities of Comprtoller and Auditor general in India.
21.  The following is the balance sheet of R & S Ltd. As on 31.3.2004.
	Liabilities
	R
	S
	Assets
	R
	S

	Share capital
	15,00,000
	6,00,000
	Fixed assets
	16,03,500
	4,49,500

	Securities premium
	1,50,000
	15,000
	Current assets
	9,28,930
	3,70,600

	P&L
	1,89,360
	-
	Miscellaneous expenditure
	10,000
	-

	General reserve
	4,70,000
	-
	P&L
	-
	96,530

	8% debentures
	-
	2,00,000
	
	
	

	Creditors
	2,33,070
	101630
	
	
	

	
	25,42,430
	91,66,630
	
	25,42,430
	91,66,630


            B ltd. Was formed to take over the business of R & S Ltd. For the agreed purchase consideration of  
            `19,50,000 and `4,80,000 respectively.  Which is payable in the form of `100 shares at par.              
            S Ltd.’s debentures are to be converted into 10% debentures.  Amalgamation expenses are to borne by 
            the  transferee company.Close the books of transferor company and give journal entries and Balance 
            sheet in  the transferee company.  Assume that the amalgamation is in the nature of merger.


22.  On 31st march 1996 the balance sheet of H Ltd. And its subsidiary S Ltd. Stood as follows:
	Liabilities
	H
	S
	Assets
	H
	S

	Equity share capital
	8,00,000
	2,00,000
	Fixed assets
	5,50,000
	1,00,000

	General reserve
	1,50,000
	70,000
	75% share in S Ltd. At cost
	2,80,000
	-

	Profit & Loss
	90,000
	55,000
	Stock
	1,05,000
	1,77,000

	Creditors
	1,20,000
	80,000
	Other current assets
	2,25,000
	1,28,000

	
	11,60,000
	4,05,000
	
	11,60,000
	4,05,000


   Prepare consolidated balance sheet after taking into consideration the following information:

i) H ltd. Acquired shares on 31.7.1995

ii) S ltd. Earned profit of `45,000 for the year ending 31st march 1996.\

iii) In January 1996 s ltd. Sold to h ltd. Goods costing Rs.15000 for `20,000.  On 31st march 1996 half of these goods were lying unsold in the godown of H Ltd.

23.  M ltd. Is an company with an authorised capital of `5,00,000 divided into 5000 equity shares of  
     `100 each on 31.12.2003 of which 2,500 shares were fully called up.  The following are the balances  
     extracted.
	Debit
	`
	Credit
	`

	Opening stock
	50,000
	Sales
	3,25,000

	Purchases 
	2,00,000
	Discount received
	3150

	Wages
	70,000
	P&l
	6,220

	Discount allowed
	4,200
	Creditors
	35,200

	Insurance upto 31.3.04
	6720
	Reserves
	25,000

	Salaries
	18,500
	Loan from M.D.
	15,700

	Rent
	6,000
	Share capital 
	2,50,000

	General expenses
	8950
	
	

	Printing
	2,400
	
	

	Advertisements
	3,800
	
	

	Bonus
	10,500
	
	

	Debtors
	38,700
	
	

	Plant
	1,80,500
	
	

	Furniture
	17,100
	
	

	Bank
	34,700
	
	

	Bad debts
	3,700
	
	

	Calls in arrears
	5000
	
	


      You are required to prepare P&L account and balance sheet as on 31.12.03.  the following further   
      information is given:
i) Closing stock 1,91,500
ii) Depreciation on plant 15% and furniture 10%.
iii) Tax provision of  8000 is considered necessary.
  iv)    The directors declared an interim dividend on 15.8.03 for 6 months ending june 2003 @6%.
[P.T.O.]





[P.T.O.]
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